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Signature. & Total Marks : 150
the Candidate

Note : Before answering the questions, read carefully the instructions given on the
OMR sheet. :

e 1 (B6)o azreven [@Pohe @ow, OMR emran H@0E® abgads drsben e $8Ho8.

SECTION — I : MATHEMATICS (e8¢ F2R09300)

+1
1 log, 2+log, 2? +log, D +log, 2" = n(n2 ) then x=
. +1
log, 2+log, 9 +log, Sy +log 2" = n(n2 ) oD X =
(1) n 2) 1 {7) 5 4 2
2  A={POLY,TECHN,IQ}, B={P,0,LY,C,ET,2020}, B- A=
(1) {20} (2) {2020} (3) {40} (4) None (98 soc%)

3 Product of the polynomials (x3 +8), (x—8) is denoted by
p(x)=ax* +bx3 + cx? + dx+e then pr(8)=

(x3+8),(x—8) O e oag&g p(x)=ax +bx* +ex? +dv+e oans p(8)=
(1) 0 2 1 (3) 2 4) 3

SPACE FOR ROUGH WORK / 9é& %98 $eranosadsd Pl
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4 If o,P are the roots of x2—1=0, then o+h=

0B e x2-1=0 @wg saress, o+ p=
8 2 1 3) -1 4) 2

v5 In the formula logaxy=ldgax+logay, which of the following is true ?
log, xy =log, x+log, y eons, & 8od =6 98 Desgn.
(1) x>0, y>0,a=1 ) 2<0.9<0. u=1
Gy a>0y>0, 51 4) x>0,y>0,a#1

6 If 7 divides a2 then

(1) 7 divides ‘a’ (2) 7 divides Ja (3) a divides 7 (4) None

a2 D 7 rAoddS®

(1) ‘@’ © 7 erhpod (2) Va &7 ea08(3) 7da >A0s  (4) 98 sk

7 log,b-log a=log,c-log b ..ac=
(1) a2 (2) b2 (3) 2 (4) None (98 s°cb)

8 If A;{a},B;{a,b},c={a,b,c}, then ANBNC=
A={a},B={a,b},C={a,b,c} vawd ANBNC=

(1) {a} ) {b} L@ e (4) None (26 se)
9 5= _
(1) 7'812 AT s G (4) None (956 s)

10  If the roots of 2x2 + kx+3=0 .are real and equal then k=
2x2 +kx+3=0 By dreren FHTre) W Hraren ®andS® & Sngy. dewd
(1) 642 () *4 (3) +2J6 @) %5

SPACE FOR ROUGH WORK / D B8 Serawosdd oo
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12

13

14

15

16

8%~ 6x 9= vt ' ‘
(1) (2x=3)(x=3) (@) (2x-3)(x+1) (32%?(2x+1)(x—1) (4) (2x=3)(4x+3)

=3 1 o
L SR are in G.P., then find 8th term
s '
1,7,2, -------- e B8 & &0, 8 B Hesdw ¢
1o 2 - P o
()128 '()64 (j128 ()64
4710 ... are in A.P., then sum of 15 terms e
s T AP. & 5, 15 oacswiméo .........
(1) 385 - @) 415 (3) 375 (4) 325
10" term of AP. 113, 8.3 -2 Tl
13,8, 3, 2% ... ARG I = -
D @) £33 (3)%‘*30 ) =30

For the equation 2019x + 2020y = 4040 when x=0 the value of y=

2019x+2020y = 4040 o RES0t0dH x = O eaomé y :)ené—
(1) 2020~ - (2) 2019 (3) 4 {4y 2t

Solution of the equations 7x+5y =12, 5x—7;y= -2 is not equal to

S

Ix+S5y=12,5x—-Ty=-2 S &sese anézséa@g & TS° BI8 Hrddn S0

=89 14 2‘_33ﬁ . 77 13 . 16 15
3514 2) 33”44 S Tk (4) 16° 15

POLYCET-2020—B | : 3 0.
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18

19

20

21

22

Which term of the GP. : /3,3,3+3,......... is 729 ?
33,38, 00 (e (HBS* 729 oy #50?
(1) 10 212 (3) 14 4) 16

The centroid of the triangle whose vertices are (3,—5),(=7.4),(10,-2) is .........
(3,-5).(=7.4),(10,-2) e» 8grenrr Ko (Babeso B8 HHSFEOEO .........

(1) (L1) | 2) (1,-2) 3) (-2,1) @) (2,-1)

(=1.3).(4,-7) dosvyes 36yt Bar owrd) (2,—3) Dot B0 Y .vvvvv..
() 352 (259 (8t 4)1:4

If (5,2) is the solution of 2x+5y =20, ax—by=0, then (a.b)=
.2x+5y=20, ax—by=0 o F¢d (5,2) ®ond (a,b)=
(b (25 (2> 15.2) 3) ‘(—2, 5) 4) (-5.2)

If the system of equations x—y=1,ax+y=2 has unique solution then
a8 dE&sren X—y=Lax+y=2 o JBE FP¢d 608

(1) a=1 @) a=-1 3) a#l @) az-1

Roots of 5x2 —8x =4 are :

5x2 —8x=4 SBwg) reren :

7 8 1
i @ Lo G) 23 4) 2,7

SPACE FOR ROUGH WORK / D K8 Beronowdd RS

4

+

POLYCET-2020—B | - FRT.O.



23

24

25

26

27

28

Product of the roots of /3 x2 —2x—+3=0 is

1/3_x2—2x—\/§:0 SBwgy. drere oo

2 2
(1) 1 ef 6y 7 ) =

o N 2x y
o+ :23 o :1 e -
2019 ' 2020 2019 2020 (x.y)
(1) (2019, 2020)  (2) (2020, 2019)  (3) (2019, 2019)  (4) (2020, 2020)

x+y=~3,x—y=0 then x=

x+y=J§,x—y=O and X =
e e 3 ~3
1) 3 @) -3 3) % 0 Tf

If the slope of the line through (2. —7) and (x, 5) is 3 then x= .........
(2, =7), (x, 5) o Ko ) B ew 3, vad x SBEy. D .........
(1) 4 ALY (3) 6 “4) 7

If (8,1),(k,—4),(2,-5) are collinear, then f =.........

(8,1),(k,—4),(2,—5) e 5B, k G0g) Jewb...

(1) 4 2) 3 (312 GO
In AABC; BC2+AB2=AC? then ______is the right angle.
AABC & BC?+ AB? = AC? eavd H65 ©0w8*w0 GOk
(1) B ) 4

3) C (4) Can't say (3%)8éw)

SPACE FOR ROUGH WORK / 9 &8 Séronosadsd Do
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30

31

32

33

AB BC A€

AABC ~APQR,; =k then k value

PO OR PR
B A

AABC ~APQR,; AB=EC= C=k ®od k£ Jewnd

PO 'Ok ER
(1 ket 2) k>1 (3) k<0 4 k=0
A line which intersects th;q-given circle at two distinct points is called
(1) tangent (2) secant (3) radius (4) circle
H)Ed) Botk HFD Hochihe B¢ PoBoih HEWBPH Vdoert
(1) %36; 3 (2) =g 3) g (4) Hysw
Angle in a major segment*i’rs
(1) an obtuse angle (2) an acute angle

- (3) right angle : (4) None

0d8 8 a?o.céoé‘&) P -
(1) ©o8 b (2) ©o)Feoin
(3) eoows’wtn » : 4) 8=

The ratio of the corresponding sides of two similar triangles is 5 : 3 then the ratio of
their areas et

Bodk e (Sahere ErD e;bea*e: ANB 5 : 3 eowd Breorgo A
(15 5:3 Q) 3 5 (3) 6:10 4) 25:9

From the figure x=

Ho Hod x =
4 900
1043~
i .
B 5 D X "
(1) 10 (2 A5 3) 12 4) 25

SPACE FOR ROUGH WORK / 9& %28 Seronosadd Do
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35

36

37

38

AABC ~Axyz; £2C =88 ¢ B=75° then #Z=

AABC~Axyz; ZC=60°£B=175° ®ond LZ =
(1) 900 2) 75° (3) 45° 4) 60°

AABC~APQR then y+z=
AABC~APQR wovd y+z=

Q B
6
3 z §
R
) Yy A 43 &
(1) 4+43 (2) 3+443 () 4+343 4) 4--3
To ﬁnd out the slant height of a cone, we use theorem.
(1) Thales (2) S.AS. (3) Pythagorus  (4) S.S.S.
HoguP ddraren I SR HLS DErodin SHDRAIE.
(1) &y Q) .. (3) e (4) atr.2H.25.

The radius of the sphere is increased by 100%, the volume of the resulting sphere is
increased by

o8 A Bngy wgardin 100% 2000 D885 Aot Engy 9 HOEreEn Jod HHDD.

(1) 200% (2) 700% (3) 500% (4) 900%
1 radian =
(1) 56°18 (2) 57°16 3) 56915' (4) 45°40

SPACE FOR ROUGH WORK / 9& %98 Séronosads Hodn
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40

41

In the figure x=

Do wod X =

(1) 60° ) 100° 3) 110° ) 1200

In the figure, ZACB..........

S0 Dod LACB Jend

C N

A 5 B

(1) 60° e N3y 300 (4) 110°

Which of the following formula is @associated to cylinder ?

(Bod drzros® Hrard8 Ho0B0DD Jr (S

1 2 4
(1) Fmr’h @ w2 o, ) 3 4 37

SPACE FOR ROUGH WORK / 9 %08 Seronosadsd goin
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43

44

45

46

47

If acos®+ bsin® = p, asin® —bcos6 =g then

acosO+bsin® = p, asin® —bcosO = g oowd
(1) a*+b*=p?+g° 2) a*+b*=p°—q°
(3) a2_b2:p2+q2 (4) a2_b2=p2_q2

The circumference of a circle is 100 cm then the side of a square inscribed in the
circle is

28 938 506 100 0., wand © Bydos* @oéa{ajoa 28 S0 g0

1 5 = 500 50
ay < @ —£ ® —n‘/_— @ —

Ratio of volume of cylinder and cone whosé radii are eQual and having same heights.
&8 mgngo, A S Qrin, foaue o PBRPLING S,
a0 o B e : "7\(8)3:1 4 2:1

Angle between the tangent and radius drfiWn through the point of contact is
5)8 $)6) Dot 65 TgFT=AB, 16709 WeSgrie S
(1) 30° (2) 45° (3) 60° (4) 90°

The mean of 17, 4, 8, 6 and 15 is m, the median of 8, 14, 10, 5, 7, 5, 20, 19 and n
is (m—1). Then the values of m and n are

1) m=9,n=10 2) m=10,n=9 _[3) m=5n=9 (4) None of these
17, 4, 8, 6 ®8ox» 15 o sew» m, 8, 14,10, 5, 7. 5, 20, 19 80 1 © s
(m—1) eond m, n Jenden

(1) m=9,n=10 @2) m=10,n=9 (3) m=5,n=9 (4) b s

Find the mode when median is 125.6 and mean is 128.

Dgrdo 125.6 Hda wien 128 eand wrimveo dod?

(1} 196 <! (2) 120.8 ~3) 125 (4) 128

SPACE FOR ROUGH WORK -/, 98 598 Stravossad geis

‘ s
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49

50

51

e ] g cal
i~ @ = Sl @ -3

From the top of the tower 60 mts high the angle of depression of two objects due north
and due south of the tower are 60° and 45° then the distance between two objects is

60 2. dotie a8 &IF B ey 08 I Fwod ads, BEn B O BBy Tok HHO
60° HBoy 45° o8 Jrdd, 8 HYHO D Erdo dos ?

(1) 603 m @) (60+20¥3)m (3) 60(¥3-1)m () 60 (V3 +1)m

What is the probability of getting an even number in a single throw of a die ?

2.8 >NED E°BoWBDYP 20%opg oothHer e Dogrded
o 2 5 = 42
@ @ 3 LR @ g

A number chosen from 1 to 100. Find the probability that it is a prime number .........

1 08 100 %opgod® a8 sopgt arreydysor Joss), © somg HE-S Yoy wHHOH
R0THG ...

1

The median of the marks scored by 100 students in a 25 marks Unit test is

& (808 SEr08 Desgiso Jos?

s 0-5|5-10110-15|15-20 | 20=25
(érdoa_e»)
No. of students
:
Bt som 10: 4 18 42 13
(1) 12 2) 123 3) 12.6 @) 12.7

SPACE FOR ROUGH WORK / 9& %28 $&ronosedsd SR
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52 In hundred numbers 20 are fours, 40 are fives, 30 are sixes remaining are tens then
arithmatic mean is

20 sreen, 40 ocen, 30 ate 10 Dedre Hrien Dos? :
(1) 3.5 (2) 5.6 (3) 4.7 = (4 5.8

53 If a coin is tossed 3 tirhes, then the probability of getting at least one head is

a8 i) Bnth e HOERI 0 8.8 £y Fossrie Soirdes

B i LY -
54 If A=45°, B=60° then sin A+cos B =

A=45° %oy B=60° eond sin 4+cos B=2?

e o 2] 2+ & 24 3

W = @ ® — S

~ O

o

55 If A4,B.C,D are angles of a cyclic quadrilateral, then sin A+sin B—sinC—sin D=2
A,B,C,D 2% 8% $th)28%5°89 sin A + sin B —-simC —sin D = ? !

(1) =1 @ 0 e ) 2

56  If two dice are rolled simultaneously then the probability that the numbers on them are
different is

Boch DD 280 ROV e Serep T Mowgen oo HogrHgs

5 1 o mt g
i) = @) = @) 7 @ —

SPACE FOR ROUGH WORK / 9¢ 298 Seronosuds goms
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59

60

A bag contains 6 red balls, 12 green balls and 8 black balls. Find the probablhty that
the ball drawn is either a black or a red ball.

2.8 J0DS® 6 AN woden, 12 ©HHI) 20den WO 8 Jen) woHen dTryow. & HoDwod
Qe )Y EO 2.8 208 B ©8 Heng) B> D) o 208 e Dogred S0,

1y 2 2y ' gy 3 -
()7 ()13‘ ()13 iy
c0s 201° cos 202° co0s203°............ cos 300° =

c0s 201° c05202° cos203°............. c0s 300° Dend dos ?

1 : 2 = 3 - 4) 0
() > (2) > (3) 1 4) 0

If the angle of elevation of the Sun is 60°, then the ratio of a tree with its shadow is

(1) 1:1 i b . 431 (4) None of these

&8 D Wrthgd B Vot #1538wm0 60° wand & By woam o) Mo FaEHo A3 :

(1) 1:1 (@ 1.5 3) J3:1 (4) 28 s

If A:g then (1+ tan 4) (1+tan2 A)(1+tan3A):

A:% ®and (1+tap A) (l+tan2 A)(l+tan3 A):

() 6 ) 4 3) 8 4) 2

SPACE FOR ROUGH WORK / DK 18 Seranobadd Dot
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62

63

64

65

SECTION — II : PHYSICS (7°88 #~&95w0)

The minimum distance from a real object to the real image in a concave mirror is
equal to '

YETSE G800 BHATRA0TRI PR J2s DY, Je3 (O3 Hoerdd Ke EDD B BIB BHEHH0

(1) 2F Q) F 3) 0 4) FP2

The relation between focal length and radius of curvature of a spherical mirror is

Ferset 6 mred® aigossin, YT do Howotino

M r=24 5 o o) By @) R=3f

The lens that is used to rectify hypermetrophia
(1) Concave (2) Convex (3) Cylindrical (4) None
BrEyR A ATBOBLEH GHArAO SEEH0

(1) Herses (2) Hogrses 3) rdrsed (4) b=t

The relation between the speed of wave (v ), wavelength (), ) and frequency (n) is-

SorRetin (V) $sorggsin (1) oo B :ydgim (1) © Begio K00eHn

(D) n=vi (2) A=vn (3) xz% (4) x:%

When objects of different distances are seen which of the following remain constant
(1) Focal length of the eye lens (2) Object distance from eye lens

(3) Image distance from eye lens (4) The radii of curvature of eye lens
Vg drores® Ko HKYHoD SrASHPE, Loesd 000500 & (80& 3e35° D& orr otk
(1) S0 868 Trasgostin | (2) o83 Serstns £od S Borsiw

(3) S0 stgin Dod (HADo Brdin (4) 8oe8 s&8 Hge ae P Sioen

SPACE FOR ROUGH WORK / & %28 Seranossedd Hoio
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67

68

69

 (3) soirgoss sorssin

The mirror used as "Rearview" mirror in vehicles is

(1) Concave (2) Convex (3)‘ Plane ~ (4) None of these

TIFTos® 'Bonb Frg’ W(BE M S1ArAOW 8w

(1) sires 2} boarses (3) e (4) 9B

When light passes through theg‘]iqulds the change of frequency of Scattered light is
related to =

(1) Raman effect - (2) Snell's law
(3) Total internal reflection < ' (4) None of these

508 |STre Hoae @Qﬁ*eﬁoﬂé&y&w %08 Bodd 5208 Ang) T DIgI HrHd ©3)0
B8 H02080058. :

(1) o8 Fersin (2) %) davisw
' 4) WP

If the minimum angle of dev1at1@ﬁ is 300 with a Prism of angle 60°. Find the refractive

‘index of the material of the Prism

60° Emo £0AS HOEHNS® £3Y dSod BFwo 30° wond, 308 dordgsn Bwgy B(8SS

4

W | b9

) V2

(1) 2.27 cm to 2.5 cm (2) 227 cm to 5 cm

(3) 25-cmto25em (4) 2.5 cm to 50 cm

S8 S&8H0 B, TeIL0S6M S (806 Devse DEg rED.

(1) 2.27 0.5, 508 2.5 0., "'" . {2) 227 205 #08 5 0.5
3) 2.5 2o, ©0825 2ok, O 4) 2.5 205 D08 50 Do,

SPACE FOR ROUGH: WORK / & £08 Stranoseds gomn
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71

72

13

What is the lens makers formula ?
B8 Saird orthH doe(gtn Des?

1 1§ 5 1 Y13
. N . s el
(1) f (“"‘ ) Rl R2 : (2) f (u ) Rl R2
1 1 1 T 1
(3) 7—.(H+1) E+E . 4) 7—(M—1) E+7§’;

What is the position of the image if the object is placed beyond the centre of curvature
on the principal axis of convex lens ?

(1) at F (2) at C

(3) between C and F (4) at infinity

Hogrsed Eeghn BnE), DD i HEs"Eo|S5tndE wde YD oD 1H3Dowy ?&m
(1) F g (2) C =g

(3) C ®oatw F o 2gg (4) odo8 srsost

When two ends of a conductor are connected to terminals of battery, what happens'
inside conductor ?

(1) Electrons move randomly  (2) Electrons come to rest
(3) Non-uniform electric field creates  (4) Uniform electric field creates

TR g By Bokh Mo argd BOJISYE SO P, a0 S50 IV athHEr0s.
(1) JdogreSen EDErS So$0S" dotron (2) JogrySen ddyo I8 Hyaw
(3) o088 g8 Fssn B h&rod (4) 5088 g8 Fon I8)th0d

What is the focal length of a double concave lens kept in air with two spherical
surfaces of radii Rj =30 cm, Ry =60 cm and refractive index of glass is n=1.5 ?

H8as0 g 1.5 Ko af Hersed sosin mOS* doswBdn. Shgin g HSeargdriwen
R =30 20.., Ry =60 20.0. mond §&8 szigossin Jok

(1) 40 cm (2) —40 cm (3) 50 cm (4) - 50 cm

SPACE FOR ROUGH WORK / 4 08 Seravossed o
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74 Which of the following is the formula for magnification of spherical mirror ?

¥ e b . hy
@ - (b) = © 5 @ 3
(1) a and b (2) b and ¢ (3) ¢ and d (4) d and a
Fersd s8)mreod® wbdtin oo
@ — a—— © % o %
(1) a ©8om b (2) b ®Bam ¢ (3) ¢ oarw d (4) d ®omw a

75 The lens which can form real and virtual images is
(1) Convex : (2) Concave
(3) Both Convex and Concave (4) None of these
38 bSlelel V) Z)J@&Lééé’)oaoénozﬁa Ddadéo LSS
(1) éoows;d (2) =0
(3) Hoerse8 LB HErses 4) b=

76 Unit of power of a lens
(1) cm (2) m (3) dioptre (4) None
ééaé @%)ggo D% (Ddreado

&) w05, @ b (3) Gasss (4) 98 =

77 If a convex lens is placed in water, its focal length is
(1) increases (2) decreases (3) no change {4) None of these
8 Hozrss SoID WIS 40D o Tegostin
) oroos (2) shsod (3) o (4) d8se»

g

SPACE FOR ROUGH WORK / 9& %28 Sercmoseds ol
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80

81

The power delivered by a battery of emf 20 ¥ is 40 W. Then the current delivered by
the battery is

(1) 0.5 ampere (2) 2 ampere (3) 60 ampere 4) 800-amp_ere

20 &S dhgarod e Ko ol arzgeoé 908 Bendd @é)ggém 40 a0¢5. ®@ond wgeoé Lod
H3)) g8 (a0 Jod?

(1) 0.5 o208 (2) 2 woans (3) 60 eobonb (4) 800 woo06

By using Kirchoff loop law find the value af 'x' in given circuit.

807D e (g0 GHBNA0D, BN HoonEns® % s S6AS0B.

15V
| 1
| |
N =3
— WA WA
2 ohm x ohm

(1) 2 ohm &5  (2) 3 ohm &%)  (3) 5 ohm (&%)  (4) 4 ohm (&5)

The frequency of direct current is Hz.
O Bop: sogE oty FiygH0 2.
(1) 0 (2) 50 (3) 60 4) 100

In an AC generator direction of current changes because of

(1) external magnet (2) carbon brushes
(3) slip rings (4) all the above
AC 255868 &° Hhrg8 (Barde B%D drd)@d8 s

(1) erdrg @atary odin (2) SN0 (@R e

(3) % dorbew (@) 280

SPACE FOR ROUGH WORK /9 408 Stravossess gosw
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84

85

Which of thel following materials has high value of specific resistance ?

(1) Copper (2) Silicon 3) Glass (4) Iron
% (808 O Hordin 068 8% AP Dewsdr $OA Gotwod.

(1) oA 2) 205 (3) mrer (4) adodn

Three conductors having resistance values 2 ohm, 3 ohm and 4 ohm are connected in
parallel. Find equivalent resistance.

13 12
(1) 20 ohm (2) 9 ohm 3) 0 ohm 4) 3 ohm

ety gD I8tare Jevden 2 6D, 3 45 oo 4 65 e Jdrodshnmr Sodd HOS
P50 Does?

13 i
(1) 20 &5 Q) 9 65 3) 1 &8 4 3 &8

Which of. the-following relation is correct regarding potential difference (M) ?
BIoNES sk (V) 8 So20809, O (80d %0230¢5%0 %0 woNdA. :

Qe Oy YW W =9,

Two metallic wires '4' and 'B' are having same cross-sectional areas and same current
passes through them. Find ratio of drift velocity of electrons in wire '4' and 'B'.

[electron density of wire 4=8.0%1028,,-3 and

electron density of wire B =9 (x 102873
Both &%y Btfen '4' S8y 'B' © 0B Brrergen S HOOK T o (oD
ADg8en Hhrsin. '4' ®oat 'B' Sxestd OFTIS0 OEHA APBD EHFAH0B. .
[4' 858" dos95 © ol 8.0 x 102873 BBaks

‘B &4 Q0TS © (&S 9 () x 1028},1—3] .
(1) 89 (2) 9/8 3) 16/27 (4) 27/16

SPACE FOR ROUGH WORK / 0% 28 Seronosads Yo
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86 Which is not a application of the Faraday's law ? '

87

(1) Washing machine : (2) Induction stove

" (3) Security check gate (4) ATM card

81 (808 TES° ) OWBSH 6B JAVErIE BodID 5°6?

(1) a%0h 225 : L (2) wddgS &5
(3) goel BE crgein 4) ATM =5

\'%
\%
WV

~ time (in sec)

St 1

The graph shows relation between induced emf Q@ and time (t) During which time

‘period there is no change in induced electromotiveé force ?

i 5
T |

(1) 6 to 12 (2) 2106 (3) 0to6 4) 6to 8

(208 Aebgar ok womn (§) B srom (1) DEg Howoed) (5 Fdpod. O so Beoe"
(208 dhogameyof e & &rth B '

o0
(1) 6 ©od 12 (2) 2 %08 6 (3) 0 %08 6 (4) 6 %08 8
SPACE FOR ROUGH WORK / 98 #38 Seronosudd gois
e
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Match the following and select correct option :
Group-A Grodp—B

(1) DYNAMO rule () (A) Gauss

(2) Magnetic field () (B) Fleming's right hand rule

(3) Electro magnet () (C) Weber

(4) Magnetic flux {0l (D) Microphone

&t (800 €30 B0 B0 VOFoD BT HK)Fod.

SrFan-A : R
(1) B&r & () (A) 7S
(2) wanryod Sissn () (B) 2oh £838 deogsd
(3) dedogesanary ot () (C) ==b
(4) ©a0dy o8 edrrin () (D) 2E%
(I) 1-D, 2-C. 3-A. 4-B (2) 1-B, 2-A, 3-D, 4-C

(3) 1-C. 2-D. 3-A, 4-B (4) 1-A, 2-D, 3-B. 4-C

P : The magnetic field lines always start from north pole.

Q : The magnetic field lines are open loops.

(1) P is true. Q is flase (2) P is false, Q is true
(3) P and Q are false (4) P and Q are true

P : @007y 08 webpen o)@a)&)é) &80 [SHSH od Bsew oHEa.

Q : wanr) o8 weBpen BBS Hoakren.

(1) P desdw, Q Sy (2) P &5y, Q des
(3) P oot Q &5y (4) P 8ot Q e

= £ g = Mg 1B
If force acting on current carrving conductor inside a magnetic ficld s F :75—.
Find the angle between plane of conductor and magnetic field msemsiny direction.
©aNFy 08 & & GodS Igs @?ymzsl THEEHIND ) Th wess F= ‘jf TErEID
SO2DH, VAN 08 TS BIH DEg Soin Jod?
(1) 90° (2) 60° (3) 45° ) 30°

POLYCET-2020—B | : 20 ' 1L 1.0.
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SECTION - III : CHEMISTRY (83~0%% F>9a)

In a given shell, the orbital which has more penetration power towards the nucleus is
a8 ({575 $556° 0B o) erehE® Soisko By My I Sy ek garing) eB)eres ?
(18 2) p 3) d (47 1

In which of the following molecule, the bond angle is 107° 48’ 2
&1 (800 o838° 107° 48'e 2088m0 Ko oY)
(1) CHy (2) NH;4 (3) H,O (4) BF;

1 nanometer is equal to

(1) 108 metre ~  (2) 102 metre (3) 102 metre (4) 1018 metre
1 & e B8 S5m0
(1) 108 . 2y 107 % (3) 1072 &. faold) 10718 &,

Which of the following represents the correct order of electronegativity among halogens ?
(80B e38° FS2s9 Bty VOFD 2RI 8 (ko DB ?
(1) F>BraCl >1 (2) I>Br>Cl>F (3) F>CI>Br>1 (4) Cl>F>Br>I

The number of bond pairs and lone pairs of electrons in H,O molecule are
H,0 o) 6% 2006 JOTIS 20den OO 2,00 DOTIS 20&e oy
() 2% @ LT (3) 2,2 (4).1 3

The element having highest electronegativity is

(1) Oxygen (2) Fluorine (3) Chlorine (4) Helium
eoég@é amm&)dagwé&éé o HrerdHn
(1) ©8y=8 (2) %S (3) g8 (4) >&axo

SPACE FOR ROUGH WORK / & #98 Seranosnds e
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The functional group in aldehyde is
b &° $od [Faw HrEro

(1) —OH (2) —CHO (3) —COOH (4) —~COOR

The formula of chloroform is

§T>D oo

I o

(1) CHsCl (2) CH,Cl, ,(3§*f_~%CHCl3 4) ccly

The distance between two adjacent layers in:"ﬁ%raphite
Both T oo D Erdo ;

(1) 3/2 2 3.35/(5)1 3) 4A 4) 3.612

Which of the following is saturated hydfocafBOn ?
85 (800 IS o8y TE S -

(1) CoHg (2) CoHy (3)-CoHy (4) C4Hg

Volume of oxjgen required at STP for complete combustion of 1 mole of ethane.
(1) 39.2 litres (2) 78.4 litres (3)“156.8 litres  (4) 22.4 litres

28 ArS SIBS o s BowadB esXHaby GBS Hitoiras, STP 5

(1) 392 e (2) 78.4 bexs (3) 156.8 Hext (4) 224 bexo

The IUPAC name of CH3 - CH, —CH =CH, is

(1) But-3-ene (2) But-1-ene (3) Butyne (4) Butane
CH; - CH, —CH =CH, &»s, [UPAC =&y

(1) args3-&5  (2) args1-%§ (3)au-g@s (4) argsS

SPACE FOR ROUGH WORK / i 08 Seronosiads gosy
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Which of the following equations is not balanced ?

(808 Brand BVEBHINOS® &eogo BanHH?
(1) C+0, - CO, (2) 2AgCl—2Ag+Cl,
(3) CaCO3 — Ca0+CO, (4) N5+0, > NO

Which of the following metals libérates hydrogen gas when reacted with dil. HCI ?
808 5¢38° 2ese HCI & 565 as0285y¢h, Ir(88 sotvipid Ao Bd &hiro 982
(1) Ag (2) Zn (3) Cu 4) Au

The nature of non-metallic oxides is generally '

(1) basic (2) acidic ~ (3) amphoteric (4) neutral
Feromorr o8 $B)8E © Hgerdo ? '

(1) w6 @) oy (3) aggersomos  (4) st

The volume occupied by one gram of hydrogen gas at STP is

(1) 224 liters (2) 5.6 liters (3) 11.2 liters (4) 44.8 liters
STP 2¢ 28 i 30|88 o) o(8oB Hddsrso
(1) 22.4 &, (2) 5.6 8. (3) 12 b (4) 44.8 b,

The colour of phenolphthalein indicator in NaOH solution is

(1) pink (2) yellow (3) brown (4) red
NaOH (or$008° 20988 108 Soth :
(1) herd (2) & () Aeowm (4) o

What is the chemical formula of hydronium ion ?

B D000 woirED By SFaNdS Fo8BE0 A6?

(1 H (2) OH' (3) 0B (4) H3;0*

POLYCET-2020—B | 23 - [ P.T.O.
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SECTION - IV : BIOLOGY (87 H98m)

The region in brain portion that controls hunger signals

(1) Diencephalon (2) Mid brain (3) Cerebrum (4) Medulla
DEDHSED_ orrren w8d dotmed doKo|Byod

(1) BoxrS Brers  (2) DEsg DSt (3) B (4) Dder
Phenotype ratio of monohybrid cross is

D& B8 Ho8dEsmo & Byds &rd A

i1y 1:2:1 2) 4:1 3) 1:3:1 4) 3:1

Nocturnal animals are

(1) active during day

(3) active during winter
s dPhew odr
(1) r5e8pes S

(3) 2esr00s® H&HHM

“Principlés of Geology” was written by
(1) Malthus
(3) Charles Darwin

“Principles of Geology” {30 m%% =&
(1) $reS :
(3) =88 @038

(2) active during summer
(4) active during night

(2) S® HHH

(4) oo® dovos® HhHme

(2) Jean Baptist Lamarck
(4) Sir Charles Lyell

(2) #5 2R edrb)
(4) =38 8s

Who performed the experiments on phototropism ?

(1) Went (2) Darwin
5°08 ©RIH6H0 I (HArMey B TS
(1) 308 (2) @ogs

(3) Lamark (4) Langerhans

(3) erdrBy (4) oroisb #8y

POLYCET-2020—B ]
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126 Where do the fertilization occurs in female ?
(1) Ovaries (2) Uterus (3) Fallopian tubes (4) Cervix
oS® HobLEn0 I ¢ BiHE0 ?
(1) eomdaro (2) Ho=ydaxic: (3) 2 Desarirs (4) Aso
127 The inner surface of the small iﬁééktine contains thousands of finger like projections
| are called s ,
s (1) Chyme (2) Villus “~ (3) Mucus (4) Spincter
D), (3 Fdse 8750 Se08® Do Hopgd® ¢ Hoes Jomy e _ ©0er
| (1) 3% (2) ool Sriwes  (3) Byo (4) 09068 Sotsso
128 Vegetative propagation through l€aves is seen in
(1) Vallisneria (2) Colacasia : (3) Potato (4) Bryophyllum
N oo FPBRE)S YLD még_ :
(1) >dFvaxe 2 §°e>'§.?oo:§?2 . (3) 2orrechod (4) Seore
129 In which of the following stage of mitosis the Nuclear membrane disappears ?
(1) Prophase (2) Metaphase (3) Anaphase (4) Telophase
&1 (806 AS® SIS ) $3S° Bo(eSso B30 B IsHH0B.
(1) o o8 (2) Soesgd &%) (3) Sed sE (4) wodg 8%
130 Reproduction by means of paﬂh%ﬁbgenesis seen in
(1) Ants {2) Beos ™ (3) Wasps (4) In above all
#95355)9&5 ArHo Gg8 (g & (800 TS° H3S® ERK0d
(1) dvew (2) EReSen (3) odbdKsen (4) 28 0e58°
131 Emulsification is carried out by which juice ?
| (1) Bile juice - (2) Pancreatic juice
(3) Intestinal juice (4) None of the above
X0d)E80 D 80 B B> ? |
(1) g 8% e e 2) $ %o
(3) eo 8% (4) 3D s
SPACE FOR ROUGH WORK / & %98 Seranosads oo
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132 Which of the following are correctly matched ?

Gas % in inhaled air - % in exhaled air
(1) Oxygen 21% - 16%
(2) Carbon dioxide 78% 78%
(3) Nitrogen 0.03% 4.4%

(4) None of the above
&5 (800 TAS” @ 2388 VOIS ?

oD &a7)8%08 arawHS® o % a0 aranPHS® Ko Ye
(1) ©8yasS 21% 16%
(2) =6y53 eByE 78% 78%
(3) &= 0.03% 4.4%
(@) o wp

133 Who showed that oxygen is released from water during photosynthesis ?

(1) Benson Calvin (2) Cameleo Golgi (3) Van Neil (4) Roben Hall
86emesg SO (BaS® e 08 w82l dbEe ©HId J BODK ?

(1) 265 3055 (2) 0srm®  (3) =555 4) ceB=e

134 Bile juiée contains which enzyme ?

(1) Pepsin : (2) Ptyalin

(3) Renin (4) None of the above
g B0S° Q) B JOBH oKW ? ,

(1) 3RS . (2) &aHdS

(3) B35 (4) 30 s

135 The concept of Ecological pyramid was first introduced by

(1) Slobodkin (2) Charles Elton (3) Lindeman (4) Steeke
Soi0m DODE (I-2SS BEDE) i TG (D 1T T
(1) 3*5°8;5 (2) =98 WS (3) OodrS (4) %5

SPACE FOR ROUGH WORK / D& HO8 Beronosedd ot
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136 Sustainable development means

(1) Prevention of wastage (2) Stable growth

(3) Development without damaging (4) High yielding in less time

VS 0PHY® I

@ @
(1) $yor edsexso (2) 2% DD
(3) $o r8pHon ©dH) Bavdo (4) 8875 SoHoS® 0y d &&B Bavdo
137 Fossils of the dinosaurs, ketosaurs are collected from ~ district in Telangana

- state i

(1) Nizamabad (2) Mahaboobnagar (3) Adilabad (4) Medak

BTG, 3> Yeorered Boorrs oo™ By o8 DO wxFon.

(1) dexdrerd (2) 385506 (3) ederard (4) Ds§

138 “Survival of fittest™ is associated with

- (1) Darwin (2) August Weismann
(3) Lamarck (4) Mendel
“Survival of fittest” (%eies S0 Fortro & weodH BRraw) & Bowodo fomd
(1) @6gs 2) e XS
(3) oirdy (4) Doas

139 Mountain.fop removal mining (MTR-Mountain Top Removal), devastate

(1) Biome (2) Environment  (3) Lithosphere (4) Hydrosphere

B3 (romos’ Sigsren DS GOS0 WYBED Iy OosKo B0 (MTR-EF0BS erS Biarie)
T EI0 V)L 0H.

(1) &% s%g oo (2) Dorgddeso (3) Berddeo (4) eserdSeo

140 Among the following pairs, which one is a mis matched pair ?

(1) Rabbit - Primary consumer : (2) Plant - Producer

(3) Lion - Carnivore (4) Giraffe - Secondary consumer
(Bod 2°e36° B 388 526 : |

(1) ®oBen - (FEDE NArSS (2) W&o - &8 BetHen

(3) oiro - drodie : (4) 2o - 638 NSrETS

SPACE FOR ROUGH WORK / 9& %98 Seranosedd Do
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How many chambers are there in a man's heart ?

S rsanos® A0y Heken So) ?

= .
(1) 2 (2) 3 I : (3) 4 4) 6
%)
Which of the followmg alki‘&d 1s used as Antimalarial drug ?
(1) Reserpine 2) Nl&g)ln . (3) Morphine 4 Qurme
&1 (3083°8° HBOAS B @ErACS wep erand 6 ?
(1) o207 | (2) 085 . (3) a:oaq)s 4) &=
The functional gap present Eﬁween two neurons is
(1) Perikaryon (2) Axon (3) Synapse (4) Node of Ranvier
Bodk T&Eeeer Desg sod Léoﬁbié 9 Lc‘bér‘éo
(1) 2soeg5 (2) wsosp 3) 35y (4) o596 Smmes
Excretory .organs present in Nematoda are

(1) Flame cells (2) Renette cells (3) Nephridia (4) Kidneys
M&e EHes® Ko Aseorren :

(1) ergersimres 2) T ¥ (3) 3ddase 4) SrESoores
: . %%“‘wé :

Which part of the-brain is &cem with coughing and sneezing ?

(1) Cerebrum (2) Cérebellum (3) Diencephalon (4) Medulla

DEDSE® Jerdio Siitko, S0 S083 Sge & Bogoso Soton 2

(1) g0 (2) @é)éaga’%o - (3) ogs ﬁ"’go 4) Dz==uwo

In which organ formation OT urea takes place ?

(1) Kidney @ Luggs : O Liver - (4} I
D eiatis0s aeoon Sofkemo EHE08
(1) 8200 (2) @boames () =Saso @) e
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147 What is the yellowish straw colored fluid that oozes out after the blood clots ?

(1) Serum (2) Plasma (3) Water (4) Uring
880 BB Somgd WADS K5t BVYSOrH (Be°9) Dokt ?
(1) %0 (2) & (3) & (4) Do

148 Doctors use which device to measure blood pressure ?

(1) Sphygmomanometer (2) Thermometer
(3) Telescope (4) Stethoscope
@ED @ D080 88 sy S ?

(1) A drsfed (2) cﬁ&‘&me

(3) 885 (4) D

149 Which of the following equations is correctly balanced ?
(1) 6COy+2H,0 — CgHy,04+6H,0+60,
(2) C'6H]206 +0,; — 6CO5 +6H,0 +Energy -
(3) CO, +12H,0 — CgH;,04 + H,0+6 0,
(4) CeHj206 +6 0, — 6CO, +6H,0 + Energy
& L@oé- TS D B EGe OTHG ?
(1) 6CO; +2H,0 — C¢H;,0¢ +6H,O +6 O,
(2) Ce¢H 206 +07 — 6CO, +6H,0 + 48
(3) CO; +12H,0 — C4H,0¢6 + H,O + 6 O,
(4) CgH 206 +60,3 = 6CO, +6H,O+ 48

150 How much of energy is stored in one ATP molecule ?
(1) 10,200 Calories (2) 1,200 Calories (3) 7,200 Calories (4) 15,200 Calories
a8 ATP &° dod 48 dewid dsochody ?

(1) 10,200 36*6e»  (2) 1,200 36*6e»  (3) 7,200 86%en  (4) 15,200 36%en
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